1A LA FHRERF220kPal S, —FRERBDIGEDESRT

XA ITUED AH (SRS HEEE ST + 0% B2 5158 [ EHE)
T ERIEIZE DR - -05kPa S E=1.0kPa
FHTRIEH1C

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=0COFE

EENDERKRRETZEALZER) X1E=#1 5kPaCEHEL-1BE
1A LA DABZERIE=220kPa+ ( BIRFFDSE-6.0E) X 1.5kPa
A B C D E F G H I P

BE | By |RoEE |asmy| sk [tassE ss2| 1B |fEee| sanE| =25E | #Ee
1A 52 0 0.20% -2.3 6.0 0 0 0 220.0 0
2R 53 0 0.20% -2.3 4.7 (1.3) 15 =20 -0.5 2153 -2.2
3R 8.3 0 0.20% -3.6 6.9 2.2 1.5 3.3 -0.5 2158 -1.9
47 13.7 0 0.20% -6.0 11.7 48 15 1.2 -0.5 2189 -0.5
5H 18.3 0 0.20% -8.1 17.1 54 1.5 8.1 -0.5 2205 0.2
6H 22.1 0 0.20% -9.6 21.2 41 15 6.2 -0.5 2181 -09
7H 26.2 0 0.20% -11.2 248 3.6 15 54 -0.5 2133 -3.0
8H 27.3 0 0.20% -11.3 278 3.0 15 45 -0.5 206.2| -6.3
9H 23.1 0 0.20% -8.8 250 (2.8) 15 -4.2 -0.5 190.2| -13.5
10A 174 0 0.20% -6.0 19.3 (5.7) 1.5 -8.6 -0.5 1724 -21.7
118 12.3 0 0.20% -39 14.2 (5.1) 1.5 =17 -0.5 158.2] -28.1
128 1.7 0 0.20% -2.2 8.9 (5.3) 1.5 -8.0 -0.5 145.9|1 -33.7
18 52 0 0.20% 0.0 6.0 (2.9) 1.5 -44 -0.5 138.8] —36.9
& 15.6 =752 -34.2% 0 -6.0 -81.2

REEFTEARARN (C)=(SEADFEHTEA-FRNOEEB) X0. 2% X EXE(P)
ZEREP)=RIOAZERE (P)-ATA D BEARN (C)-(REDFEH+RIRTNID
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EROZE=RAIL ¥ IILILDERR(EH X KIR) /g RRE=—T

M1E=1 1kPaTHEL-ES

1B LAIDRAEER[E=220kPa+ ( AEFFDSIE-6.0F) X 1.1kPa
A B C D E F G H I P
BB | BEY | ROEE |BRERH| BAR J:ﬁ’ﬁ;‘%l SEBE| 1E |[BEEE aRBR| ZRE | #EH%
1H 5.2 0 0.20% -2.3 6.0 0 0 0 220.0 0
28 5.3 0 0.20% -2.3 4.7 (1.3) 1.1 -14 -05 2158 -19
38 8.3 0 0.20% -3.6 6.9 2.2 1.1 2.4 -05 2154 -21
47 13.7 0 0.20% -5.9 11.7 4.8 1.1 5.3 -05 216.6] -15
5H 18.3 0 0.20% -7.9 171 54 1.1 59 -05 216.1 -1.8
6 A 221 0 0.20% -94 21.2 41 1.1 45 -05 2122 -35
78 26.2 0 0.20% -10.8 24.8 3.6 1.1 4.0 -05 206.3| -6.2
8H 273 0 0.20% -10.8 27.8 3.0 1.1 3.3 -0.5 198.3| -9.9
9H 23.1 0 0.20% -85 250 (2.8) 1.1 -3.1 -05 1839 -164
10H 17.4 0 0.20% -5.9 19.3 (5.7) 1.1 -6.3 -0.5 168.6] —-234
118 12.3 0 0.20% -39 14.2 (5.1) 1.1 -56 -0.5 156.6| —28.8
12H 1.7 0 0.20% -2.3 8.9 (5.3) 1.1 -58 -05 146.5| -33.4
1H 5.2 0 0.20% 0.0 6.0 (2.9) 1.1 -3.2 -0.5 140.5| -36.1
F 15.6 -73.5| -33.4% of -60] -795
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1A LAIEYRERF220kPal ZEE . —ERIERABDIGESNDERT
HXAICIED AR (ERICIXBEERIE X 10%F B A 555 XBHRE)

RZR1EIZKDR/N : -0.5kPa B BHEE=1.0kPa

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=5COEE

EENDERKRRETZEALZER) X1E=#1 5kPaTEHEL-BE
1A LA DABZERIE=220kPa+ ( BIRFFDSE-6.0E) X 1.5kPa
A B C D E F G H I P

BE | BF® | ROERE |BARY| B4R | LOSE| SE2| 1B |SE22| akRE| Z5E | #H%
1A 52 5 0.20% -0.1 6.0 0 0 0 220.0 0
2R 53 5 0.20% -0.1 4.7 (1.3) 15 -2.0 -0.5 21751 -1.2
3R 8.3 5 0.20% -15 6.9 2.2 1.5 3.3 -0.5 220.1 0.1
47 13.7 5 0.20% -3.9 11.7 48 15 1.2 -0.5 2254 24
5H 18.3 5 0.20% —6.1 17.1 54 15 8.1 -0.5 229.1 41
6H 22.1 5 0.20% -7.8 21.2 4.1 15 6.2 -0.5 228.6 3.9
7H 26.2 5 0.20% -9.6 248 3.6 15 54 -0.5 225.7 2.6
8H 27.3 5 0.20% -9.8 278 3.0 15 45 -0.5 220.1 0.1
9H 23.1 5 0.20% -74 25.0 (2.8) 15 -4.2 -0.5 205.6] -6.5
10A 174 5 0.20% -47 19.3 (5.7) 1.5 -8.6 -0.5 189.1] -14.0
118 12.3 5 0.20% -2.6 14.2 (5.1) 1.5 =1.7 -0.5 176.3] —-19.9
128 1.7 5 0.20% -0.9 8.9 (5.3) 1.5 -8.0 -0.5 165.3] —-24.9
18 52 5 0.20% 0.0 6.0 (2.9) 1.5 -4.4 -0.5 159.5| -275
&F 15.6 -54.5 -24.8% 0 -6.0 -60.5
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NXERSADBERAIL I vILILOER (FH x (K1) /M5t B E=-—7
17ADBREN=-5E1°CTO. 2% THEL-BES
BARRNEOEE=5COIEE
I7—k547—ERGEL-ER) X1E=#1 kPaTHEL-ES
1B LD RE=220kPa+ ( B RN SE-6.0E) X 1.1kPa
A B C D E F G H I P

BA | ATty |RoEE (aARY| aaR | tasE| sEz| 1E |sEze| arE| =ZSE | #E%
1H 52 5 0.20% -0.1 6.0 0 0 0 220.0 0
2R 5.3 5 0.20% -0.1 47 (1.3) 1.1 -1.4 -0.5 218.0] -0.9
38 8.3 5 0.20% -15 6.9 2.2 1.1 24 -0.5 219.8] -0.1
48 13.7 5 0.20% -39 11.7 4.8 1.1 53 -0.5 2231 1.4
5H 18.3 5 0.20% -6.0 17.1 54 1.1 59 -0.5 2247 2.1
6H 221 5 0.20% -7.6 21.2 41 1.1 45 -0.5 222.7 1.2
78 26.2 5 0.20% -9.3 24.8 3.6 1.1 40 -0.5 218.5] -0.7
8H 273 5 0.20% -95 27.8 3.0 1.1 3.3 -0.5 2121 -3.6
9H 23.1 5 0.20% -7.2 25.0 (2.8) 1.1 -3.1 -0.5 1990 -95
10AR 17.4 5 0.20% -4.6 19.3 (5.7) 1.1 -6.3 -0.5 185.1| -15.9
118 12.3 5 0.20% -2.5 14.2 (5.1) 1.1 -56 -0.5 1744 -20.7
12H 1.7 5 0.20% -0.9 8.9 (5.3) 1.1 -5.8 -0.5 165.5| -24.8
18 5.2 5 0.20% 0.0 6.0 (2.9 1.1 -3.2 -0.5 160.9] -26.9
&F 15.6 -53.1 -24.1% 0 -6.0 -59.1
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MERRNIIKERDECOEERDEZWNV-ERLEL

15BOBEARBN=-5831°CTO. 20% Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 5.2 0 020% 21| 22| 23| 24| 25 26/ 27| 28/ 29/ 30/ 3.1
2R 5.3 0 020% 21| 22| 23| 24| 25| 27 28] 29/ 30f 31 32
3R 8.3 0 020% 33| 35 37| 38 40| 42| 43| 45 46| 48] 50
4R 13.7 0 020% 55| 58/ 60| 63 66| 69 71 74| 77 79| 82
5H 18.3 0 020% 73| 7.7 81| 84| 88| 92| 95 99| 102 106| 11.0
68 22.1 0 0.20% 88| 93| 97| 102| 106 11.1| 115 119 124| 128 133
718 26.2 0 0.20% 105| 11.0| 115 121| 126 13.1| 136 14.1| 147 152| 157
8H 27.3 0 0.20% 10.9| 115| 120 126| 13.1| 137 142 147 153| 158 164
9R 23.1 0 0.20% 92| 9.7 102 106| 11.1| 11.6] 120 125| 129| 134 139
108 17.4 0 020% 70| 73| 77| 80| 84| 87 90 94| 97 101| 104
118 12.3 0 0.20% 49| 52| 54| 571 59/ 62| 64/ 66| 69 71| 74
128 7.7 0 020% 31| 32| 34| 35 37| 39| 40| 42| 43| 45| 46
F 15.6 -74.8| -78.5| -82.2| -86.0| -89.7| —93.5( -97.2|-100.9(-104.7|-108.4|-112.1

15BN BEARRBN-R;21°CTO. 20%T:tHE
HBRRBNEOEE=-5COEE

BB | BEY | ROERE |BA%S| 200 210 220 230] 240 250| 260[ 270| 280 290| 300
18 5.2 5 020% o1 o1 o1 o1 o1 o1 o1 o1l o1f o1 01
28 5.3 5 020% 01| 01| o1 o1 01 02/ 02 02 02 02 02
3A 8.3 5( 020% 13| 14 15 15 16| 17 17| 18 18/ 19/ 20
48 13.7 5( 020% 35| 37| 38 40| 42| 44 45 47| 49| 50/ 52
5A 18.3 5( 020% 53 56/ 59 61 64 67 69| 72| 74/ 77| 80
68 22.1 5( 020% 68/ 72| 75 79| 82 86| 89 92| 96| 99 103
78 26.2 5( 020% 85| 89| 93| 98 102 106| 110 114 119 123 127
8 A 273 5( 020% 89| 94| 98| 103| 107 112| 116 120 125 129 134
98 23.1 5( 020% 72| 76/ 80| 83| 87 91 94 98| 101 105 109
108 17.4 5( 020% 50/ 52| 55 57 60 62 64 67 69| 72 74
1A 12.3 5( 020% 29| 31 32| 34 35 37 38 39| 41| 42| 44
128 7.7 5(  020% 11| 11| 12| 12| 13| 14 14 15 15 16| 16
& 15.6 -50.8| -53.3| -55.8| -58.4| -60.9( -63.5| -66.0| -68.5| -71.1[ -73.6| —76.1




15BOBEARBN=-5;B31°CTO. 18%Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
18 5.2 0 0.18%| 19| 20| 21| 22 22 23 24/ 25 26 27 28
2H 5.3 0 0.18%| 1.9 20 21 22 23 24 25 26 27 28 29
3H 8.3 0 0.18%| 30| 31| 33| 34| 36| 37| 39| 40| 42| 43| 45
48 13.7 0 0.18% 49| 52| 54 57| 59| 62| 64/ 67| 69| 72| 74
5H 18.3 0 0.18%| 66| 69| 72 76 79/ 82 86/ 89 92 96/ 99
6H 22.1 0 0.18%| 80| 84| 88 91 95 99| 103 107 11.1| 115 119
7R 26.2 0 0.18%| 9.4 99 104 108 11.3] 118 123| 127 132| 13.7| 141
8H 27.3 0 0.18%| 9.8 103 108 11.3| 11.8| 123| 128| 13.3] 138| 143| 147
9R 23.1 0 0.18%| 83| 87 9.1 96| 100 104| 108 11.2| 116| 121 125
108 17.4 0 0.18% 63| 66/ 69 72| 75 78/ 81 85 88 91| 94
118 12.3 0 0.18%| 44| 46| 49 51 53 55 58 60 62| 64 66
128 7.7 0 0.18%| 28| 29| 30 32 33 35 36/ 37 39 40| 42
F 15.6 -67.3| -70.6| -74.0| -77.4| -80.7| -84.1| -87.5| -90.8| -94.2| -97.6/-100.9

17 ADBEARN=-5B1°CTO. 22% TEtE
BRRBNEORE=-5CDIHFE
BB | B¥EY | ROEE |BA®KE 200[ 210( 220 230[ 240 250( 260[ 270( 280[ 290 300
18 5.2 5 022% o1 o1 o1 o1 o1 o1 o1 01| o041 01| 01
2H 5.3 5 022% o1 o1 o1 o02[ o02f o2 02 02 02 02 02
3H 8.3 5 022% 15| 15| 16| 17 17 18 19/ 20| 20 21| 22
4H 13.7 5 022%| 38| 40| 42 44 46| 48 50 52| 54 56| 57
5H 18.3 5 022% 59| 61| 64/ 67 70 73 76/ 79 82 85 88
6H 22.1 5 022% 75| 79| 83 87| 90| 94| 98/ 102| 105/ 109 113
7H 26.2 5 0.22% 93| 98| 103 107| 112 11.7] 121 126 13.1| 135| 140
8H 273 5 0.22% 9.8 103 108 11.3| 11.8| 123| 128| 13.2| 137 142| 147
9R 23.1 5 022%| 80| 84| 88 92 96/ 100/ 104 108 11.1| 115 119
108 17.4 5 022%| 55| 57| 60 63 65 68 71| 74 76/ 79 82
118 12.3 5 022% 32| 34| 35| 37| 39| 40| 42| 43| 45 47 48
128 7.7 5 022% 12| 12| 13| 14| 14/ 15 15 16| 171 17 18
F 15.6 -55.8| -58.6| —61.4| -64.2| -67.0| -69.8| -72.6| -75.4| -78.2| -81.0| -83.8




